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Fard Ii RLrlifpbe Cholee: Chepie (be Best Aotnen Three paicts fr eackh queslicn,

1. Thedemend for preduct /A iy eglimated 4o be melastic. Whea ke prics of produst A inmEsass,
which af the following sleberaent 12 frue?
a  CHanGty domaod intréases, Eut otel cevenios dbdraaiss.
b.  Craenlily demazyl decreases, and tp@l revenws decrzases.
. Cmenbty demand increasss, and todal reveoue incmeases.

d. Caentty demand decreases, byt tool FiWEuE ITHTeas=%.

2. [InLhe shart-nam, & fimm 71 & purely competitive macket wouald e beer At fe shue denyn if
a. the market prics s Jpwer Ehan ovemges cost
. the market price is bpwer then overage varighle cost
the market price 35 baveer than ovaroges fTxed oosls.
d. the tharkel prics is [awer then unit pre<ductian cost

1. Thomajec differance bebwesn meneprlale and parfest camptlizan Is
o,  iNumhber ond shue of buyess,
b ifwrtiber and aize of prducess.
[ Produt lian differaaiialion,
d.  Dificalty of eniry,

do Asyuee the denrand Ganclion oF fosduct X has the follawing foam:
Q=12 = 14y + 03T+ 128y
Whre Gy it quantity demand of product X5 Py Is price of product X; 115 disposat leome ievel;
Fisthe price g prodest ¥,
Product X pnd Y ars sisbaricubes

b.  Progduct X and’y ore complemenc:.
o Prodoed X |5 Inferbor goad.
d. Moz of e above

5 Whicluef e following fasdve wil | radiroe che real morsy demend?
4  unincrease io s price kevel,
b, Anincease in maneyr supply
€. An increase in raal [nraes levek
Ao inceass i inirest rats,
4. For profi-mrasimiting Girmas, what will kappen oo ahe opudniad 16veE of canpal and profis ifthe
SOWEIHENEIN SHlmees 1 vy a tumpasemy day (flaed sisouen of ed) oo corparate proliy
d.  Dptimse] rabe of Quipys inenease BNG 108 | pralil decises.
b, Cplmal rate of guigt decreaes and 1alal profit decreases.
g CIpdimat lewel of il il Slaks (B same znd tgtal pooill d=penses
d. Opdleal Level oF adipal decoeases apd torad profd deercrses,
i
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7. Compare firmg in perfely wm:n.l«:lhl\'c nuarker aad enceopaly:

1 Fam3a ln bodh opes o8 mimrkens wilize ghe same rube for prodie isdximlzacon: MRE=3C,

b, Fiomz Inperfeesly compefive markess sam ztra sdonomiz pridie, whilt [inns in monopaly
SALN pirsiliva ecadantis poshl.

. Febarive o Fns i perfaetly compadlslvg market, consniners heee bes ansoun of swpluz in
rnrAapaly, and ke Toss of aurplus |3 oeeally caplised g praducers proa.

d.  Echoandb

e, mbamde

B.  Whichgpaofthe fdlewing scdlon will Inersans enoney sisapbr?
#,  Ceniral Bank pusehases povemment securities in the marker.
b, Ceneral Balk intcoases paserve requissment

Cenudl Bank inctanind discount rale.

d. Bothaand b

n

T Wiich ome of the follgwing staiemaed is true?
2 Average epi curve B Dncrsring wheo marginal cgst is pesilive.

b, Tiotal o curv teaches maximuen when aserages cost Is aqual o mkrglnal case.
¢, Tooal ookt cures iy increasimg When avBRigt 2040 £Ured it iodsading,

d.  Aversgn to#t curve 5 inerensing whei eharginal susl curve lies 2hove iL

£ aafdd

9. Whith one of the following faclor will ctatribuls i balance of payment sarplus of Tanwent
& Toepeass In Imipeqis,
. Irceznze In fareigr dizect investment jn Tajwan,
o & Purchase of IBM stacks lislad I Mew tark Smex Exchmmpe.
4, Fitackial 2ids 1p foreipn couenrbasz,

It Cansider dhe effesd of expansipoery fizcal polley [h 4 opea and closed sconomy,
& They tand 1o have Bie same efiael an domestic econemy,
b, The effect tengdg oo b2 steonger in open econamy beenuss dnipesiée Inses ol et 1o go
T
o The effaet [5 weaker b opea soancmy hegauze dorstis INGEesd rals thosds 16 o up.
d BMone olile abaye,

12 Fagr '-'-f‘ﬂﬂtl"-l ptdlizctionm ficmns muset Chdiied il inpels combinabon sp that
2 The mmgleal poodusts ol all npaiz age che @,
b The daltar work af tharginal preducts ol Tnpuss 15 the samie.
€. The nyrginal racea of sechnelogical subsiducion of aM logucs are e sams.
o Bane ofthe above.
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13, Bsonomisks have long argued shat castels such 22 OGPEC will net sarvive inshe bong Tun. W Iz
tha ot Lnporant reasen oflea eiced?

Cart=15 alk gk eompels with céher snyl] peoducers.

B

b, There is rony iesgiive for carled membees 1@ chest on i SERFARAE.
& ilobablzation will reducs the power el cartels.

d. Casreld will pezalt in ineMicienty.

L+, Whleh siatemend ahout interetianal eade i erue?

Taiwats will oot hepefin fromn eradlng itk India,

k. IntamaGanalrade fands ba resall in 2peelaliznisan
. Ewarytat io (b trRding courdries will denefic fram ictamationah mads.
4 Iniematioos] eade : Enponant io ictematicsdl krowledge $pillesrn
e  Bolhbheedd
15, Whith tae wilk vause the demand curve uf cotles 1o shifl aut {right), assuraing.  colfec |2 a
nonomal gocd?
a.  Prlee of 2offss goes dowa.
B-  Enceame deval lnerseses,
& Priceofteq, substbale of dallee, poas down.
g Behasadb,

V6. What will happea Ln porely campetitive marked i€ marke! price s above ke minimum poicn ol

AVETAEE £OF Cwrval

a. Flens wlil sm pesitive ecombanie pridils Inoks Tepg ruo.

b, Aeme (ires will enter chis markey, which drives down the markeLprice updll © 5 eqinl o
the minimeh pang oF Byernps costcarve.

G Spme frms wilk leave thia market, which recucet 113 markes productica.

d.  There exiziz excact demand it (ke markec,

L7. Whnlelacaeenieti Is wue abawt elasficity af deanand?

Gapds with mace substiuses cend 4o have Jess elastic dersknd (priee glasticiy).

rogs elnstleior bepacen cor ool Sred 2laudd be negalive.

¢ Whenshe sconpmy is io recession producers of geads with noggilve [reome «lastising ted
1 auiTer the minsh,
d. Bab bads

14.  Whith slaLeched) i wue pbout vafoeinet

L waleily it d2dined 29 the ralio of nominal GOE e aeoek of money.
b, When icerest Tane rlszs, velecily increases.

& Meleeicy s e rls2 25 mare frequenl wagh pavmel s pede.

d Al the 2hov'e,
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1%, Aboet Sllgopoky, whish saionieed 32 rue?
a. There exist mayy popducers ip the paariee.
B Enteracdjon etween pradiscers |s Irnpu}u':anl: in dedarmining the market aquilibrium price and

qusnlity,
Tha markal fupply curve iy herizgntal.
Fluz markad demmand curve 35 vestleal,

10,  The depreciation of Hew Teiwan dellor tznds 1o hripg what impzct oo domesiic  ectramiy?

n Reduellor In crporpricss.

b Redutican in itipoot prices.

¢ Reduttigninthe praspars of mflatice
d. Incpeass inedomesle aonsanplion

Farl il Fleazs g nsyer te followlng questlons ax clearty ox potsthbe, Your yrade depeods on the
quelily gl yout reasening, not conclusbory, For calewlalion problems plapse show how the answert

are derbved cariulln

1. Qguld n mcqmpakls sedlbng hlz wnpat in owe itsdependenr markers chooese 2o 260l Inons oarkst
523, mpmaek &) nt A prles chac dots ntd covtr his averdge st af produericn ifbis it iz 1o
maximize gpgmey prodlist Should such a price discriminatics poliey b passaed i maske AT {7

Pinka)
b Prove the I'l]-]llj'.'rll'lg tha IREarems cpncienipg indiference ciomves: (Tpeints]
3. Every indifizrence purve muss b BegElivel sloped.
b.  Twao indifferenc: curves eal never intarseel a2 tommad podnl
3. Fillin che lolkewing YHREE blaks in the follcwing teble of GMT $lavstics. [T points)
YEAR 1955 [l La%T
Meminal BT 45245 223132
Bl GHEP IB3AT 4014 .4
LitdP dedlasor 213 E2E.%

4. I I9BQ k= dudlson of Caivestity of Tainar is aboo 220000, and the snmaliment is £2000) sludents.
In 153, the niFton lieecaced oo 529 000, and =crollme=at increased to 200 students. Khoes this
Excd imply 1! the demard quive of duegiion pravided by University of Faman is upnard
slopinat O, you havs mlier explan®tion?] T poinks)
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5. (17 phinis) Assucs 1hat @ Earmer reacives bl entice inzolet sach pesitd i te Eoma of edo g
Xond Y, Specifisally s incares cansiacs off 1Mk umits of ' ad 3 undis af X. Undsr the
prevaling markst prices 5n the first pericd he rioches his conaumpslon equiliorium by selling &
units of ¥ and receiviog inrewm 3 unlts o 1. X wnd ¥ are dhe caly commndilies he gomawmes.
A, Dwescribe the Barmer's bebevier grapliizably by Seriviag iz budget [ne, -

B.  Irthesecond perled tee price of X incooanes pelptive t the price of .
fa),  [mw the farmer's bizw [adgst line nexi 1o hls initial budger llng, How #re 1he twe
eelabed?
(B 1othe tecond peried the Furner deeldes ho ponsume & unlts of . Has hlz positipo s
A conpamec bt imapeoved or worsen rdlualve 10 dis posiliok In she {icst peciad?
fe)  WWoald ye ansver o pat{h) changs had yau ko (hi the cansuiler dvsided 16
sansume S rber Shar § units oi 3 under the celative prloes presailing i the seeord
preiekl?
£, Inthethind pericad B priees of hoth 3 and Y inzdnse by L0 raladvs bo e prices
pravailiog in the flrss perlod, Vse the relavont bdgat lins anzlysis (o ompare the pasitica
af the Earmec en the Heee gnd 1he shizd peceads,




